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J. Since like charges repel, and electrons move freely in a conductor, the charges move as far from
each other as possible.

K. If it were not evenly distributed, there would be a repulsive force and E would not be zero.
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(Part 2) A 10 uF capacitor is charged by connecting it toa 12 V source. A 20 pF capacitor is
separately cha.rgf:d tol5V,
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The capacitors are now discoftected from theit sources.and connected to each other with positive plate

to positive plate, and negative plate to negative plate. r—/—-l
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b) Find the eﬂ'ectn%uce of this combination. T I
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(¢) Determine the potential difference across this cumbmatmn
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() Suppose the experiment is repeated but the capacitors are instead connected positive to negative
and negative to positive, How do you expect the answers to parts (c) and (d) to change and why?
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